fraction/bin

Ratio to ATLAS

=
N

=
o

[EEY

0.5

13000 GeV pp Jets

| T I T I T I T I | T I T I T I T I T | T I T I T I T I T | 9
B Relative P, (ATLAS jet fragmentation) 1z
| 1=
| m ATLAS N
. --=-- Pythia 6.428 359 N
. —A— Pythia 6.428 370 | 8
— Pythia 6.428 a - ;
— ---v-- Pythia 6.428 dw —@
— —o— Pythia 6.428 p0 —&

----- ¥ Pythia 6.428 pro-q20 n

mcplots.cern.ch [arXiv:1306.3436]

=F

__________ 11

—0.5
P T T T O T S S N T S S SR |
1 textrm{re 2 " 3

P } (positive values only)

textrm{



	Contents
	Page 1


